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2.  Find the area of a triangle whose vertices are ( 3,5), (2,6) and (3, 5).   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Test for Collinear Points:   Three points 1 1 2 2 3 3( , ), ( , ) and ( , )x y x y x y  are collinear (lie on 
the same line) if and only if  
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   (the determinant = 0) 

 
3.  Determine whether the points ( 2, 2), (1,1) and (7,5)   lie on the same line. 
 
 
 
 
 
 
 
 
 
 
 
 
4.  Determine whether the points (3, 1), (0, 3) and (12,5)   are collinear. 
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The test for collinear points can be adapted to another use.  If you have two points on a 
rectangular coordinate system, you can find the equation of the line passing through the 
two points.   
 
 
 
 
 
5.  Find an equation of a line that passes through (2,4) and ( 1,3).  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
6. Find an equation of a line that passes through (4,3) and (2, 2).   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Homework:  Textbook pp.646-647 #s 5, 7, 23, 25,  27, 29  (For 23 and 25, determine if 
those points are collinear without your calculator.) 

Steps setup matrix

finddeterminant
Setdeterminant D

y I
11
429

2 4 1 2 4
g ofline1 3 1 1 3 3910 0

4 9 6 standard 39 10

def 4 9 6 4 3 29
slopeintercept to 3y

form It Y
det 4 9 6 4 3 24 3g 10 5 5 9
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3 29 8

det 3 298 6 2 49
def 3 29 8 6 2 49 egiotting

ytzdet X 29 2
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Homework 03-01


